5 Employee. All Employees se		25/2025 05:00:00 to 09/26/	2025 04:59:59	
, Drawer 111				
Job Title	Pay Rate	Hours Check Total	Total 0.00	\$0.00
		Claimed Tips	0.00	\$0.00
		Grand Total		\$0.00
, QR Ordering	D D4		T-4-1	
Job Title	Pay Rate	Hours Check Total	Total 0.00	\$0.00
		Claimed Tips		\$0.00
a 11 - 1		Grand Total		\$0.00
Aguilar, Francisco	Pay Rate	Hours	Total	
JOD TICLE	ray nate	Check Total	0.00	\$0.00
		Claimed Tips Grand Total		\$0.00 \$0.00
Allen, Avory		Granu rotar		30.00
Job Title	Pay Rate	Hours	Total	
Host		\$14.00	4.81	\$67.39
		Check Total Claimed Tips	4.81	\$67.39 \$0.00
		Grand Total		\$67.39
Anderson, LaDonna				
Job Title	Pay Rate	Hours Check Total	Total 0.00	\$0.00
		Claimed Tips	0.00	\$0.00
		Grand Total		\$0.00
Beckwith, Margo	Don Dot		T-4-1	
JOD TILLE	Pay Rate	Hours Check Total	Total 0.00	\$0.00
		Claimed Tips		\$0.00
Due deberre		Grand Total		\$0.00
Bradshaw, Jeremy Job Title	Pay Rate	Hours	Total	
	ray nate	Check Total	0.00	\$0.00
		Claimed Tips Grand Total		\$0.00 \$0.00
Brown, Levi		Granu rotar		30.00
Job Title	Pay Rate	Hours	Total	
Host		\$17.50	6.97	\$122.01
		Check Total Claimed Tips	6.97	\$122.01 \$0.00
		Grand Total		\$122.01
Burke, Jacob				
Job Title	Pay Rate	Hours Check Total	Total 0.00	\$0.00
		Claimed Tips	0.00	\$0.00
		Grand Total		\$0.00
Calderon, Juana Job Title	Pay Rate	Hours	Total	
JOD TILLE	ray Nate	Check Total	0.00	\$0.00
		Claimed Tips Grand Total		\$0.00
Carver, Victoria		Granu rotai		\$0.00
Job Title	Pay Rate	Hours	Total	
		Check Total	0.00	\$0.00
		Grand Total		\$0.00 \$0.00
Castro-Rios, Marcus	s			70.00
Job Title	Pay Rate	Hours	Total	
		Check Total Claimed Tips	0.00	\$0.00 \$0.00
		Grand Total		\$0.00
Clark, Rhyan				
Job Title Server	Pay Rate	Hours \$3.35	Total 6.23	¢20.00
Server		Check Total	6.23 6.23	\$20.88 \$20.88
		Claimed Tips		\$59.00
Davis Maskansis		Grand Total		\$79.88
Davis, Mackenzie	Pay Rate	Hours	Total	
		Check Total	0.00	\$0.00
		Claimed Tips Grand Total		\$0.00 \$0.00
Dean, Kamree				+ -
Job Title	Pay Rate	Hours	Total	
		Check Total Claimed Tips	0.00	\$0.00 \$0.00
		Grand Total		\$0.00
Engle, Kosha				
Job Title	Pay Rate	Hours	Total	60.00
		Check Total Claimed Tips	0.00	\$0.00 \$0.00
		Grand Total		\$0.00
Foisy, Michael				
Job Title	Pay Rate	Hours Check Total	Total 0.00	\$0.00
		Claimed Tips	0.00	\$0.00
		Grand Total		\$0.00
Gonzalez, Alyssa				
Gonzaicz, Aiyssa				

L				
Job Title	Pay Rate	Hours Check Total	Total 0.00	\$0.00
		Claimed Tips		\$0.00
Cower Pohyn		Grand Total		\$0.00
Gower, Robyn Job Title	Pay Rate	Hours	Total	
		Check Total Claimed Tips	0.00	\$0.00 \$0.00
		Grand Total		\$0.00
Hamack, Sean				
Job Title Default Jo	b Code	Pay Rate \$17.00	Hours Total 5.86	\$99.62
		Check Total Claimed Tips	5.86	\$99.62 \$0.00
		Grand Total		\$99.62
Harada, Matt			_	
Job Title	Pay Rate	Hours Check Total	Total 0.00	\$0.00
		Claimed Tips		\$0.00
Harris, Hallie		Grand Total		\$0.00
Job Title	Pay Rate	Hours	Total	
		Check Total Claimed Tips	0.00	\$0.00 \$0.00
		Grand Total		\$0.00
Hellickson, Avery				
Job Title	Pay Rate	Hours Check Total	Total 0.00	\$0.00
		Claimed Tips		\$0.00
Heredia, Ana		Grand Total		\$0.00
Job Title	Pay Rate	Hours	Total	
Bar		\$20.00 Check Total	6.78 6.78	\$135.56 \$135.56
		Claimed Tips		\$0.00
Harton Juliaanna		Grand Total		\$135.56
Horton, Julieanne	Pay Rate	Hours	Total	
		Check Total Claimed Tips	0.00	\$0.00 \$0.00
		Grand Total		\$0.00
Lara, Marisol				
Job Title Host	Pay Rate	Hours \$15.50	Total 7.02	\$108.73
		Check Total	7.02	\$108.73
		Claimed Tips Grand Total		\$0.00 \$108.73
Markwell, Xander				
Job Title	Pay Rate	Hours Check Total	Total 0.00	\$0.00
		Claimed Tips		\$0.00
McCurdy, Alison		Grand Total		\$0.00
Job Title	Pay Rate	Hours	Total	
		Check Total Claimed Tips	0.00	\$0.00 \$0.00
		Grand Total		\$0.00
Moran, Marcos	Day Data	Hours	Tatal	
Cook	Pay Rate	\$25.00	Total 7.26	\$181.60
		Check Total Claimed Tips	7.26	\$181.60 \$0.00
		Grand Total		\$181.60
Myers, Alexandria	Dev. D.	.,	T.	
Job Title	Pay Rate	Hours Check Total	Total 0.00	\$0.00
		Claimed Tips Grand Total		\$0.00 \$0.00
Palmerin, Angel		C. Sila Fotal		Ç0.00
Job Title	Pay Rate	Hours	Total 7.18	¢131.00
Dish		\$17.00 Check Total	7.18 7.18	\$121.98 \$121.98
		Claimed Tips Grand Total		\$0.00 \$121.98
Partida, Carlos		Orana rotal		Q121.30
Job Title	Pay Rate	Hours	Total	6110.00
Dish		\$17.50 Check Total	6.81 6.81	\$119.22 \$119.22
		Claimed Tips Grand Total		\$0.00 \$119.22
Partida, Jorge				, 120,22
Job Title	Pay Rate	Hours	Total	60.00
		Check Total Claimed Tips	0.00	\$0.00 \$0.00
		Grand Total		\$0.00
Partida, Laura Job Title	Pay Rate	Hours	Total	
Bar	, a, nate	\$18.00	6.09	\$109.68
		Check Total Claimed Tips	6.09	\$109.68 \$0.00
		Grand Total		\$109.68
Partida, Vanessa Job Title	Pay Rate	Hours	Total	
JON THE	ray nate	Hours	iotai	

Pay Rate Pay Rate	Check Total Claimed Tips Grand Total Hours Check Total Claimed Tips Grand Total Hours Check Total Claimed Tips Grand Total	7.30 Total 0.00 Total 0.00	\$24.4 \$105.6 \$129.4 \$0.6 \$0.6
Pay Rate	Grand Total Hours Check Total Claimed Tips Grand Total Hours Check Total Claimed Tips	0.00 Total	\$129. \$0. \$0.
Pay Rate	Check Total Claimed Tips Grand Total Hours Check Total Claimed Tips	0.00 Total	\$0.
Pay Rate	Check Total Claimed Tips Grand Total Hours Check Total Claimed Tips	0.00 Total	\$0.
	Claimed Tips Grand Total Hours Check Total Claimed Tips	Total	\$0.
	Hours Check Total Claimed Tips		\$0.0
	Check Total Claimed Tips		
	Check Total Claimed Tips		
Pay Rate	Claimed Tips		\$0.
Pay Rate	Grand Total		\$0.
Pay Rate			\$0.
ray Nate	Hours	Total	
	Check Total	0.00	\$0.
	Claimed Tips		\$0.
	Grand Total		\$0.
Pay Rate	Hours	Total	
ray Nate	\$27.00	7.30	\$197.
	Check Total	7.30	\$197.
			\$0. \$197.
Pay Rate	Hours	Total	
	\$3.35	7.69	\$25.
		7.09	\$25. \$70.
	Grand Total		\$95.
Pay Rate	Hours	Total	40
		0.00	\$0. \$0.
	Grand Total		\$0.
Pay Rate	Hours	Total	
		0.00	\$0. \$0.
	Grand Total		\$0. \$0.
Pay Rate	Hours	Total	
		0.00	\$0.0
			\$0.0 \$0.0
Pay Rate	Hours	Total	
		0.00	\$0.0 \$0.0
			\$0.
Pay Rate	Hours	Total	
		0.00	\$0. \$0.
	Grand Total		\$0.
Pay Rate	Hours	Total	ćo.
		0.00	\$0. \$0.
	Grand Total		\$0.
Pay Rate	Hours	Total	624
			\$24. \$24.
	Claimed Tips		\$136.
	Grand Total		\$160.
D D :		-	
Pay Kate			\$14.
	Check Total	4.43	\$14.
	Claimed Tips		\$53.6 \$67.5
	Grand Total		307.0
Pay Rate	Hours	Total	
,	\$3.35	7.12	\$23.
	Check Total	7.12	\$23. \$89.
	Grand Total		\$113.
Pay Rate	Hours	Total	
		0.00	\$0.0 \$0.0
	Grand Total		\$0.0 \$0.0

	Pay Rate	Hours Total	
Manager	\$6.0		\$37.
			\$37. \$80.
			\$117.
Pay Rate	Hours	Total	\$126.
	Pay Rate	Check Total Claimed Tips Grand Total Pay Rate Pay Rate	S27.00

		Check Total Claimed Tips Grand Total	7.04	\$126.76 \$0.00 \$126.76
Young, Danielle				
Job Title	Pay Rate	Hours	Total	
	•	Check Total	0.00	\$0.00
		Claimed Tips		\$0.00
		Grand Total		\$0.00
CHECK TOTALS				
Hours	To	otal		
119.39				\$1,561.18